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This channel is very simple.

A model independent analysis can be done.
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What if we actually find a Mt peak!?
Can we determine the spin of the resonance!

Can we determine the parity violation?
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What if | knew the full momentum of the neutrino?

Let’s concentrate on the signal for now.
But, we will include the pdfs.
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But, we don’t know the full momentum of the neutrino!

There is a well-known two-fold ambiguity in the z-component of the neutrino
momentum.
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Usually, we try to find a cut that improves our chances of
guessing the right solution.

These cuts tend to reduce the signal rate
and they tend to modify the angular distribution.



Can we do better?



Can we do better?

Yes!






Let’s look at the Large solution first:

We can reconstruct the spin.
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Symmetric Vector
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Let’s look at the small solution next:

We can also reconstruct the parity violation.
(Look in our paper for the details.)
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To summarize:
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